
M1.4.MRP300.NLFREN   15022023

TORROS

HANDLEIDING - MODE D’EMPLOI - MANUAL

MRP300 (829700121) 

Gemotoriseerde rupsdumper
Brouette motorisée sur chenilles

Tracked dumper

P.02 Gelieve te lezen en voor later gebruik bewaren
P.19 Veuillez lire et conserver pour consultation ultérieure
P.36 Please read and keep for future reference

FR

EN

NL



19

M1.4.MRP300.NLFREN   15022023

FR TORROS

1  Sécurité

Symboles

Sur la plaque signalétique de votre machine, vous trouverez des symboles. Ceux-ci peuvent donner des informations importantes 
sur le produit et des instructions d’utilisation. 

Table des matières
1  Sécurité............................................................................................................................................................... 19
2  Spécifications et description de la machine .............................................................................................................. 21
3  Déballage de la machine ...................................................................................................................................... 22
4  Contenu de la livraison ......................................................................................................................................... 23
5  Montage............................................................................................................................................................. 24
6  Description de la machine ..................................................................................................................................... 26
7  Utilisation............................................................................................................................................................ 28
8  Entretien.............................................................................................................................................................. 30
9  Rangement .......................................................................................................................................................... 35
10  Résolution des pannes......................................................................................................................................... 35
11  Pièces détachées ................................................................................................................................................ 53
12  Déclaration de conformité CE .............................................................................................................................. 60

MINI TRACKED DUMPER 3

GBENVIRONMENTAL

SYMBOLS

The rating plate on your machine may 

show symbols. These represent important 

information about the product or instructions 

on its use.

Recycle unwanted materials instead 

of disposing of them as waste. All 

tools, hoses and packaging should 

be resorted, taken to the local 

recycling center and disposed of in 

an environment-friendly safe way. 

Read these instructions carefully.

Wear eye protection.

Wear hearing protection.

Wear protective gloves.

Wear safety footwear.

Do not  remove or  tamper 

with the protection and safety 

devices.

No smoking, sparks, or flames

Do not touch parts that are hot 

from operation. Serious burns 

may result.

Keep your hands clear from all 

rotating parts.

Never start or run the engine 

inside a closed area.

Do not operate on slopes with 

angle over 20° or tip loading at 

an inclined position.

Be aware ,  objects  may be 

thrown while in use.

The exhaust fumes are dangerous, 

containing carbon monoxide. 

Staying in the environment can 

lead to unconsciousness and 

death.

Always turn off the engine 

before starting maintenance.

Keep children and bystanders 

off and away.

09735UK00M110.indd   3 2017/12/20   16:56:03

Lisez attentivement ces instructions.

Il est interdit d’enlever ou de modifier les dispositifs de sécurité.

Gardez les mains à distance des parties rotatives.

Restez éloigné des parties chaudes de la machine.

Ne fumez pas ou n’exposez pas la machine à des flammes vives.

Portez des gants de protection.

Portez des lunettes de sécurité et des protections auditives.

Portez des chaussures de sécurité.



20

M1.4.MRP300.NLFREN   15022023

FRTORROS

MINI TRACKED DUMPER 3

GBENVIRONMENTAL

SYMBOLS

The rating plate on your machine may 

show symbols. These represent important 

information about the product or instructions 

on its use.

Recycle unwanted materials instead 

of disposing of them as waste. All 

tools, hoses and packaging should 

be resorted, taken to the local 

recycling center and disposed of in 

an environment-friendly safe way. 

Read these instructions carefully.

Wear eye protection.

Wear hearing protection.

Wear protective gloves.

Wear safety footwear.

Do not  remove or  tamper 

with the protection and safety 

devices.

No smoking, sparks, or flames

Do not touch parts that are hot 

from operation. Serious burns 

may result.

Keep your hands clear from all 

rotating parts.

Never start or run the engine 

inside a closed area.

Do not operate on slopes with 

angle over 20° or tip loading at 

an inclined position.

Be aware ,  objects  may be 

thrown while in use.

The exhaust fumes are dangerous, 

containing carbon monoxide. 

Staying in the environment can 

lead to unconsciousness and 

death.

Always turn off the engine 

before starting maintenance.

Keep children and bystanders 

off and away.

09735UK00M110.indd   3 2017/12/20   16:56:03

MINI TRACKED DUMPER 3

GBENVIRONMENTAL

SYMBOLS

The rating plate on your machine may 

show symbols. These represent important 

information about the product or instructions 

on its use.

Recycle unwanted materials instead 

of disposing of them as waste. All 

tools, hoses and packaging should 

be resorted, taken to the local 

recycling center and disposed of in 

an environment-friendly safe way. 

Read these instructions carefully.

Wear eye protection.

Wear hearing protection.

Wear protective gloves.

Wear safety footwear.

Do not  remove or  tamper 

with the protection and safety 

devices.

No smoking, sparks, or flames

Do not touch parts that are hot 

from operation. Serious burns 

may result.

Keep your hands clear from all 

rotating parts.

Never start or run the engine 

inside a closed area.

Do not operate on slopes with 

angle over 20° or tip loading at 

an inclined position.

Be aware ,  objects  may be 

thrown while in use.

The exhaust fumes are dangerous, 

containing carbon monoxide. 

Staying in the environment can 

lead to unconsciousness and 

death.

Always turn off the engine 

before starting maintenance.

Keep children and bystanders 

off and away.

09735UK00M110.indd   3 2017/12/20   16:56:03

Tenez les enfants et les autres personnes à l’écart de l’espace de travail.

Soyez conscient du fait que des objets peuvent être projetés pendant l’utilisation de la machine.

Ne faites jamais démarrer le moteur dans un espace clos.

N’utilisez pas la machine sur une pente inclinée à plus de 20°.

Les gaz d’échappement sont dangereux et contiennent du monoxyde de carbone. Rester à proximité peut 
provoquer une perte de connaissance et même la mort.

Éteignez toujours la machine avant de commencer l’entretien.

ATTENTION !
• La machine est livrée sans huile de moteur !
• La machine est livrée sans huile hydraulique !



21

M1.4.MRP300.NLFREN   15022023

FR TORROS

Consignes de sécurité

1. Lisez et comprenez le manuel d’utilisation et les étiquettes apposées sur la machine. Apprenez le champ d’application de 
la machine, ainsi que ses limites et les risque potentiels liés à son utilisation.

2. Assurez-vous que vous connaissez bien les commandes et leur bon fonctionnement. Sachez comment rapidement arrêter la 
machine et débrayer les commandes.

3. Veillez à lire et comprendre toutes les instructions et consignes de sécurité. N’utilisez pas la machine tant que vous n’avez 
pas bien compris son fonctionnement. Suivez toujours les instruction du fabricant pour l’entretien de votre machine.

4. Les gaz d’échappement sont nocifs. Si vous utilisez la machine à l’intérieur, une bonne ventilation doit être assurée.
5. N’utilisez pas une plaque vibrante dans une atmosphère explosive ou inflammable.
6. Marchez avec la machine, ne courez pas.
7. Restez vigilant. N’utilisez pas la machine si vous êtes sous l’influence d’alcool, de drogue ou de médicaments qui 

pourraient diminuer votre capacité de concentration.
8. Portez des vêtements adaptés. Portez des bottines et des gants. Ne portez pas de vêtements amples.
9. Utilisez des protection individuelles. Portez toujours des lunettes de protection et des protections auditives.
10. Contrôlez votre machine avant de commencer à travailler. Veillez à ce que les protections soient bien en place et en bon 

état de fonctionnement. Vérifiez que tous les boulons et écrous sont bien serrés.
11. N’utilisez jamais la machine s’il y a des fuites d’huile ou si une pièce est défectueuse. Remplacez les pièces défectueuses 

ou manquantes avant utilisation.
12. Prenez l’habitude de vérifier que les outils de service ont été enlevés de la machine avant de la mettre en marche.
13. Ne vous penchez pas trop. Ne travaillez pas avec la machine à pieds nus ou en sandales. Portez des chaussures de 

sécurité pour protéger vos pieds et éviter de glisser.
14. Arrêtez la machine pour faire le plein ou vidanger l’essence. Attendez que toutes les pièces soient bien refroidies et 

assurez-vous qu’il n’y a pas de sources d’inflammation telles que des étincelles ou des flammes près de la machine. 
Gardez toujours le carburant éloigné des sources d’inflammation.

15. Si du carburant coule lors du remplissage, utilisez un chiffon sec pour l’essuyer et déplacez la machine à au moins 5 
mètres de la zone où le carburant a coulé.

16. Vérifiez le niveau d’huile avant de commencer à travailler. Ne mettez pas la machine en marche si le niveau est bas.
17. Ne modifiez jamais le réglage de la commande et le dispositif de limitation de vitesse. Une vitesse trop élevée représente 

un risque pour l’utilisateur.
18. Ne lâchez jamais la poignée. Le risque augmente si la machine n’est plus guidée.
19. La machine ne peut être utilisée que par des adultes. Tenez la machine hors de portée des enfants.
20. Les réparation, l’entretien et les réglages doivent être effectués par du personnel qualifié.
21. Quand la machine est hors d’usage, débarrassez-vous en sans nuire à l’environnement, en la rapportant à votre revendeur 

qui veillera à ce qu’elle soit éliminée correctement.
22. Ne remplissez jamais trop le réservoir d’essence. Le niveau ne doit pas dépasser la marque sur le filtre du réservoir.

2  Spécifications et description de la machine

Modèle MRP300
Moteur 6,5 cv / 196 cc
Vitesses 3 en marche avant + 1 en marche arrière
Capacité de charge 300 kg
Longueur du bac 910 mm
Largeur du bac 600 mm
Profondeur du bac 204 mm
Largeur chenille 180 mm
Capacité réservoir d’huile 0,6 l
Capacité réservoir d’essence 3 l
Autonomie 4 h
Niveau sonore 101 dB(A)
Poids net 218 kg



22

M1.4.MRP300.NLFREN   15022023

FRTORROS

3  Déballage de la machine

Utilisez un tournevis et un marteau pour ouvrir les côtés de la caisse.

Enlevez toutes les plaques de contreplaqué et enlevez toutes les pièces de la palette inférieure.

MINI TRACKED DUMPER 7

GBUNPACKING THE CONTAINER

Use the screwdriver and hammer to open all the side locks.

Remove all the plywood plates, and remove all the loose parts on the bottom pallets.

1 2 3 4

MINI TRACKED DUMPER 7

GBUNPACKING THE CONTAINER

Use the screwdriver and hammer to open all the side locks.

Remove all the plywood plates, and remove all the loose parts on the bottom pallets.

1 2 3 4



23

M1.4.MRP300.NLFREN   15022023

FR TORROS
4  Contenu de la livraison

La brouette sur chenilles est livrée partiellement montée et emballée avec soin. Après déballage, vérifiez si le contenu est 
complet :

1. Châssis principal
2. Guidon
3. Levier de basculement
4. Capot du moteur
5. Panneau arrière
6. Côté gauche extensible
7. Côté droit extensible
8. Panneau inférieur
10. Outils pour l’installation de la bougie
11. Mode d’emploi de la machine et du moteur
12. Sac de matériel comprenant :

MINI TRACKED DUMPER8

GB CONTENTS SUPPLIED 

12

8

9

10

7

6

3

5

2

4

1

11

1.   Main Frame   

2.  Handlebar Assembly

3.  Tipping Handle   

4.  Engine Guard

5.  Panel (Rear)

6.  Extendable Left Side

7.  Extendable Right Side  

8.  Panel (Bottom)

9.  Gas Spring (Optional)

10. Tools for Spark Plug Assembly

11.  Operator’s Manual & Engine Manual

12. Hardware Bag, Including

  M10 X 20 X 4
A

  M8 X 25 X 2

  M16 X 238 X 1 F

  M16 X 2 B

   4 X 35 X 2

  M8 X 35 X 2
C

  M8 X 30 X 2

  X 6 D

  M8 X 35 X 2 E

The mini tracked dumper comes partially 

assembled and is shipped in carefully packed 

package. After al l  the parts have been 

removed from the package, you should have:

MINI TRACKED DUMPER8

GB CONTENTS SUPPLIED 

12

8

9

10

7

6

3

5

2

4

1

11

1.   Main Frame   

2.  Handlebar Assembly

3.  Tipping Handle   

4.  Engine Guard

5.  Panel (Rear)

6.  Extendable Left Side

7.  Extendable Right Side  

8.  Panel (Bottom)

9.  Gas Spring (Optional)

10. Tools for Spark Plug Assembly

11.  Operator’s Manual & Engine Manual

12. Hardware Bag, Including

  M10 X 20 X 4
A

  M8 X 25 X 2

  M16 X 238 X 1 F

  M16 X 2 B

   4 X 35 X 2

  M8 X 35 X 2
C

  M8 X 30 X 2

  X 6 D

  M8 X 35 X 2 E

The mini tracked dumper comes partially 

assembled and is shipped in carefully packed 

package. After al l  the parts have been 

removed from the package, you should have:



24

M1.4.MRP300.NLFREN   15022023

FRTORROS
5  Montage

En suivant les instructions ci-dessous, vous terminerez le montage de votre machine en quelques minutes. 

MINI TRACKED DUMPER 7

GB1.   Main Frame   

2.  Handlebar Assembly

3.  Tipping Handle   

4.  Engine Guard

5.  Panel (Rear)

6.  Extendable Left Side

7.  Extendable Right Side  

8.  Panel (Bottom)

9.  Operator’s Manual & Engine Manual

10. Hardware Bag, Including

   M16 X 238 X 1 F

   M16 X 2 A

   4 X 35 X 2

  M10 X 20 X 4
B

  M8 X 25 X 2

  M8 X 35 X 2
C

  M8 X 30 X 2

  X 6 D

Following the assembly directions below, you 

will assemble the machine in a few minutes.

Panel (Bottom)

Handlebar Assembly

Position the bottom panel inside the mounting 

bracket. Align the holes with the mounting 

bracket. Insert a long pin through holes and 

secure each side with a flat washer and cotter pin.

ASSEMBLY

  M10 X 20 X 4
B

  M8 X 25 X 2

   M16 X 238 X 1 F

   M16 X 2 A

   4 X 35 X 2

1

23 3

1

2

2

1

09710UK00M110.indd   7 2015/12/24   15:27:48

MINI TRACKED DUMPER 7

GB1.   Main Frame   

2.  Handlebar Assembly

3.  Tipping Handle   

4.  Engine Guard

5.  Panel (Rear)

6.  Extendable Left Side

7.  Extendable Right Side  

8.  Panel (Bottom)

9.  Operator’s Manual & Engine Manual

10. Hardware Bag, Including

   M16 X 238 X 1 F

   M16 X 2 A

   4 X 35 X 2

  M10 X 20 X 4
B

  M8 X 25 X 2

  M8 X 35 X 2
C

  M8 X 30 X 2

  X 6 D

Following the assembly directions below, you 

will assemble the machine in a few minutes.

Panel (Bottom)

Handlebar Assembly

Position the bottom panel inside the mounting 

bracket. Align the holes with the mounting 

bracket. Insert a long pin through holes and 

secure each side with a flat washer and cotter pin.

ASSEMBLY

  M10 X 20 X 4
B

  M8 X 25 X 2

   M16 X 238 X 1 F

   M16 X 2 A

   4 X 35 X 2

1

23 3

1

2

2

1

09710UK00M110.indd   7 2015/12/24   15:27:48

A. Assemblage du guidon 
Alignez les trous du guidon avec le support de fixation, et fixez chaque poignée avec une rondelle à ressort, une rondelle plate 
et un boulon M10x20. Fixez chaque support de poignée sur le bloc moteur avec une rondelle à ressort, une rondelle plate et 
un boulon hexagonal M8x25.

B. Panneau inférieur 
Placez le panneau dans le support de montage. Alignez les trous avec le support de montage. Insérez une longue broche dans 
les trous et fixez chaque côté avec une rondelle plate et une goupille fendue.

C. Poignée de basculement et carter de protection du moteur 
Placez le carter de protection du moteur dans le support de montage et alignez avec les trous du support. Fixez le panneau 
gauche avec deux boulons M8x30, quatre rondelles et deux écrous. Montez le levier de basculement sur le panneau droit. 
Alignez les trous et fixez avec deux boulons M8x35, quatre rondelles et deux écrous.

MINI TRACKED DUMPER8

GB

Add oil according to Engine Manual packed 

separately with your tiller.

Engine Oil

OIL HAS BEEN DRAINED FOR 
SHIPPING.

Failure to fill engine sump with oil 
before starting engine will result in 
permanent damage and void engine 
warranty.

Tipping Handle & Engine Guard

Align the holes of the handlebar with the 

mount bracket and secure each with a spring 

washer, flat washer and a M10x20 bolt . Fasten 

each handlebar support onto the engine deck 

with a spring washer, flat washer and a M8x25 

hex bolt.

Place the engine guard inside the mounting 

bracket and align with the mounting bracket 

holes. Secure panel left side with two M8x30 

hex bolts, four washers and two nuts. Mount 

the tipping handle on panel right side. Align 

holes and fasten with two M8x35 hex bolts, 

four washers and two nuts. 

Insert the extendable sides into mounting slots 

located on the bottom panel and fasten each 

at the bottom with two L pins and locknuts.

  X 6 D

  M8 X 35 X 2
C

  M8 X 30 X 2

2

3

3

1
1

M8 X 35

M8 X 30

Panel (Rear) & Extendable Left/Right Side

09710UK00M110.indd   8 2015/12/24   15:27:49



25

M1.4.MRP300.NLFREN   15022023

FR TORROS

MINI TRACKED DUMPER8

GB

Add oil according to Engine Manual packed 

separately with your tiller.

Engine Oil

OIL HAS BEEN DRAINED FOR 
SHIPPING.

Failure to fill engine sump with oil 
before starting engine will result in 
permanent damage and void engine 
warranty.

Tipping Handle & Engine Guard

Align the holes of the handlebar with the 

mount bracket and secure each with a spring 

washer, flat washer and a M10x20 bolt . Fasten 

each handlebar support onto the engine deck 

with a spring washer, flat washer and a M8x25 

hex bolt.

Place the engine guard inside the mounting 

bracket and align with the mounting bracket 

holes. Secure panel left side with two M8x30 

hex bolts, four washers and two nuts. Mount 

the tipping handle on panel right side. Align 

holes and fasten with two M8x35 hex bolts, 

four washers and two nuts. 

Insert the extendable sides into mounting slots 

located on the bottom panel and fasten each 

at the bottom with two L pins and locknuts.

  X 6 D

  M8 X 35 X 2
C

  M8 X 30 X 2

2

3

3

1
1

M8 X 35

M8 X 30

Panel (Rear) & Extendable Left/Right Side

09710UK00M110.indd   8 2015/12/24   15:27:49

D. Panneau arrière et panneaux gauche/droite extensibles 
Insérez les panneaux latéraux dans les fentes de montage situées sur le panneau inférieur, et fixez chaque panneau avec deux 
attaches en L et des écrous de blocage.

MINI TRACKED DUMPER8

GB

Add oil according to Engine Manual packed 

separately with your tiller.

Engine Oil

OIL HAS BEEN DRAINED FOR 
SHIPPING.

Failure to fill engine sump with oil 
before starting engine will result in 
permanent damage and void engine 
warranty.

Tipping Handle & Engine Guard

Align the holes of the handlebar with the 

mount bracket and secure each with a spring 

washer, flat washer and a M10x20 bolt . Fasten 

each handlebar support onto the engine deck 

with a spring washer, flat washer and a M8x25 

hex bolt.

Place the engine guard inside the mounting 

bracket and align with the mounting bracket 

holes. Secure panel left side with two M8x30 

hex bolts, four washers and two nuts. Mount 

the tipping handle on panel right side. Align 

holes and fasten with two M8x35 hex bolts, 

four washers and two nuts. 

Insert the extendable sides into mounting slots 

located on the bottom panel and fasten each 

at the bottom with two L pins and locknuts.

  X 6 D

  M8 X 35 X 2
C

  M8 X 30 X 2

2

3

3

1
1

M8 X 35

M8 X 30

Panel (Rear) & Extendable Left/Right Side

09710UK00M110.indd   8 2015/12/24   15:27:49

MINI TRACKED DUMPER10

GB

  X 6 D

  M8 X 35 X 2 E

Lift up the hopper and insert a support rod 

for safety purpose. Align the holes in the gas 

spring with the holes in both guide brackets 

and insert M8x35 bolts, washers and nuts to 

tighten.

Gas Spring (Optional)

Plow Blade (Optional)

Mount the mounting bracket to the blade 

using M8X30 hex bolts, washers and nuts.

Insert the shorter control lever into the longer 

lever. Align holes and fasten with M8X40 hex 

bolt, washers and nut. 

Position the pivot bracket inside the mounting 

bracket and align with mounting bracket holes. 

Secure with M20X95 hex bolt, washers and nut.

  M8 X 30 X 4 a

  M20 X 95 X 1 b

  M8 X 40 X 1 c

M8×30 (×4)

Mounting Bracket

M20×95 (×1)

Pivot Bracket

M8×40 (×1)
Danger Area

Support Rod

Gas Spring

Guide Bracket



26

M1.4.MRP300.NLFREN   15022023

FRTORROS

MINI TRACKED DUMPER12

GB KNOW YOUR MACHINE
Features and Controls

Throttle Control

Engine Switch

Right Steering Lever

Clutch Control Lever

Left Steering Lever

Hopper

Track

Tipping Handle

Gearbox

Gear Selection Lever

Gas Spring Assistance (Optional)

Interrupteur moteur

Commande des gaz

Levier de direction droite

Levier d’embrayage

Levier de direction gauche

Benne

Levier de basculement

Levier de vitesses

Chenille

Boîte de vitesses

6  Description de la machine



27

M1.4.MRP300.NLFREN   15022023

FR TORROS

MINI TRACKED DUMPER 13

GB

Recoil Starter Handle

Choke Control

Fuel Shut-Off Valve

Throttle Control

Always release the clutch control 
lever before changing speeds. 
Fai lure to do so wi l l  result  in 
damage to the power trackbarrow.

Operate the steering levers only at 
a reduced speed.

The gas spring assistance provides support 

when lifting and lowering the hopper.

Gas Spring Assistance (Optional)Gear Selection Lever

The gear selection lever has 4 positions: 3 

forward speeds and 1 reverse. To change 

speeds, move the speed shift lever to the 

desired position. The lever locks in a notch at 

each speed selection.

Slower speeds are for heavier loads, while 

faster speeds are for transporting light loads 

or an empty hopper. It is recommended that 

you use a slower speed until you are familiar 

with the operation of the power trackbarrow.

If the engine slows down under a load or the 

tracks slip, shift the machine into a lower gear.

If the front of the machine rides up, shift 

the machine into a lower gear. If the front 

continues to ride up, lift up on the handles.

Operate the lever to turn left/right.

Left/Right Steering Lever

Engine On/Off Switch

The engine switch has two positions. OFF - 

engine will not start or run. ON - engine will 

start and run.

Recoil Starter Handle

The recoil starter handle is used to start the 

engine.

Fuel Shut-Off Valve 

The fuel shut-off has two positions: 

CLOSED ( ) - Use this position to service, 

transport, or to store the unit.

OPEN ( ) - Use this position to run the unit.

Throttle Control

The throttle control regulates the speed of the 

engine, and moves between FAST , SLOW 

, and STOP positions.

The throttle control will shut off the engine 

when it is moved to the STOP position.

Choke Control

The choke control is used to choke the 

carburetor and assist in starting the engine. 

The choke control slides between the CHOKE 

CLOSED  and CHOKE OPEN  positions.

Levier de vitesse
Le levier de vitesse a 4 positions : 3 vitesses en marche avant et 1 
marche arrière. Pour changer de vitesse, placez le levier dans la 
position souhaitée. Le levier se verrouille dans une encoche à chaque 
sélection de vitesse.

ATTENTION !
Relâchez toujours le levier d’embrayage avant de changer de vitesse. 
Si vous ne le faites pas, vous endommagerez la brouette.

Les vitesses plus lentes conviennent pour les charges plus lourdes, tandis que les vitesses plus rapides peuvent être utilisées pour 
transporter des charges légères ou une benne vide. Il est conseillé d’utiliser une vitesse plus lente jusqu’à ce que vous soyez 
familiarisé avec le fonctionnement de la brouette. 
Si la machine ralentit sous une charge ou si les chenilles patinent, passez à la vitesse inférieure.
Si l’avant de la machine monte, passez à une vitesse inférieure. Si la machine continue à monter, soulevez les poignées.

Leviers de direction gauche/droite
Actionnez le levier pour tourner à gauche ou à droite.

ATTENTION !
N’actionnez les leviers de direction qu’à une vitesse lente.

Interrupteur du moteur
L’interrupteur du moteur active et désactive le système d’allumage.
L’interrupteur doit être sur ON pour faire fonctionner le moteur.
Mettez l’interrupteur sur OFF pour arrêter le moteur.

Poignée du démarreur
La poignée du démarreur est utilisée pour mettre le moteur en marche. 

Robinet du carburant
Le robinet a deux positions :
CLOSED (FERMÉ) - Utilisez cette position pour l’entretien, le transport ou le stockage de la machine.
OPEN (OUVERT) - Utilisez cette position pour utiliser la machine.

MINI TRACKED DUMPER 13

GB

Recoil Starter Handle

Choke Control

Fuel Shut-Off Valve

Throttle Control

Always release the clutch control 
lever before changing speeds. 
Fai lure to do so wi l l  result  in 
damage to the power trackbarrow.

Operate the steering levers only at 
a reduced speed.

The gas spring assistance provides support 

when lifting and lowering the hopper.

Gas Spring Assistance (Optional)Gear Selection Lever

The gear selection lever has 4 positions: 3 

forward speeds and 1 reverse. To change 

speeds, move the speed shift lever to the 

desired position. The lever locks in a notch at 

each speed selection.

Slower speeds are for heavier loads, while 

faster speeds are for transporting light loads 

or an empty hopper. It is recommended that 

you use a slower speed until you are familiar 

with the operation of the power trackbarrow.

If the engine slows down under a load or the 

tracks slip, shift the machine into a lower gear.

If the front of the machine rides up, shift 

the machine into a lower gear. If the front 

continues to ride up, lift up on the handles.

Operate the lever to turn left/right.

Left/Right Steering Lever

Engine On/Off Switch

The engine switch has two positions. OFF - 

engine will not start or run. ON - engine will 

start and run.

Recoil Starter Handle

The recoil starter handle is used to start the 

engine.

Fuel Shut-Off Valve 

The fuel shut-off has two positions: 

CLOSED ( ) - Use this position to service, 

transport, or to store the unit.

OPEN ( ) - Use this position to run the unit.

Throttle Control

The throttle control regulates the speed of the 

engine, and moves between FAST , SLOW 

, and STOP positions.

The throttle control will shut off the engine 

when it is moved to the STOP position.

Choke Control

The choke control is used to choke the 

carburetor and assist in starting the engine. 

The choke control slides between the CHOKE 

CLOSED  and CHOKE OPEN  positions.

Poignée du démarreur

Commande du starter

Robinet du carburant

Commande des gaz



28

M1.4.MRP300.NLFREN   15022023

FRTORROS
Commande des gaz
La commande des gaz contrôle la vitesse du moteur. Il y a trois positions : RAPIDE       , LENTE       et STOP.
Le moteur s’arrête quand la commande des gaz est mise sur STOP.

Commande du starter
La commande du starter est utilisée pour aider au démarrage du moteur.
La commande du starter a deux positions : FERMÉE       et OUVERTE      .

ATTENTION !
N’utilisez jamais le starter pour arrêter le moteur.

Levier d’embrayage
Poussez le levier pour embrayer. Relâchez le levier pour débrayer.

7  Utilisation

Mettre de l’huile de moteur

ATTENTION !
• La machine est livrée sans huile !
• À la livraison, il n’y a pas d’huile de moteur. Ne mettez jamais le moteur en marche sans 

huile.

1. Assurez-vous que la brouette est sur une surface plane et horizontale.
2. Enlevez le bouchon/la jauge pour verser de l’huile.
3. Avec l’aide d’un entonnoir, versez de l’huile jusqu’à la marque FULL (rempli) 

de la jauge.

ATTENTION !
Ne remplissez pas trop. Vérifiez le niveau d’huile chaque 
jour et ajoutez-en si nécessaire.

Mettre de l’essence

ATTENTION !
L’essence est hautement inflammable et explosif. Vous pouvez vous brûler ou vous blesser 
grièvement en manipulant de l’essence. Soyez extrêmement prudent quand vous mettez de 
l’essence. 
Remplissez le réservoir d’essence à l’extérieur, jamais à l’intérieur. Les vapeurs d’essence peuvent 
enflammer si elles s’accumulent dans un espace clos. Une explosion peut alors se produire.

1. Le moteur doit être éteint et avoir refroidi pendant au moins deux minutes avant le remplissage du réservoir d’essence.
2. Enlevez le bouchon de remplissage et remplissez le réservoir. 

ATTENTION !
Ne remplissez pas trop !
Cet équipement et/ou le moteur peut contenir des composants du système de contrôle des 
émissions par évaporation, requis pour répondre aux réglementations EPA et/ou CARB, qui ne 
fonctionneront que si le réservoir d’essence a été rempli au niveau recommandé.
Un remplissage excessif peut causer des dommages permanents aux composants du système de 
contrôle des émissions par évaporation. Un remplissage au niveau recommandé assure un espace 
de vapeur nécessaire pour permettre l’expansion du carburant. Faites très attention à ne pas 
dépasser le niveau recommandé quand vous remplissez le réservoir. Utilisez un bidon d’essence 
portable avec un bec de distribution de la bonne taille pour remplir le réservoir. N’utilisez pas 
d’entonnoir ou autre dispositif qui pourrait obstruer la vue sur le processus de remplissage.

3. Remettez le bouchon et serrez. Essuyez toujours l’essence qui a coulé.

MINI TRACKED DUMPER12

GB Operation

Never use choke to stop engine.

No oil in the engine originally, but 
a bottle of engine oil is in scope 
of delivery. Don’t start the engine 
before adding oil.

Gasoline is highly flammable and 
explosive. You can be burned or 
seriously injured when handling fuel. 
Use extreme care when handling 
gasoline.

Fill the fuel tank outdoors, never 
indoors. Gasoline vapors can ignite 
if they collect inside an enclosure. 
Explosion can result.

DO NOT OVERFILL. Check engine 
oil level daily and add as needed.

Engine On/Off Switch

The engine switch has two positions. OFF - 

engine will not start or run. ON - engine will 

start and run.

Recoil Starter Handle

The Recoil Starter Handle is used to start the 

engine.

Fuel Shut-Off Valve 

The fuel shut – off has two position.

CLOSED ( ) - use this position to service, 

transport, or store the unit.

OPEN ( ) - use this position to run the unit.

Throttle Control

The throttle control regulates the speed of the 

engine, and moves between FAST , SLOW 

, and STOP positions.

The throttle control will shut off the engine 

when it is moved to the STOP position.

Choke Control

The choke control is used to choke the 

carburetor and assist in starting the engine. 

The choke control slides between the CHOKE 

CLOSED  and CHOKE OPEN  positions.

Clutch Control Lever 

Squeeze the control lever, clutch engaged. 

Release the lever, clutch disengaged.

1.     Make sure the mini tracked dumper is on a 

flat, level surface.

1.     The engine must be off and allowed to cool 

at least two minutes before adding fuel.

2.  Remove the fuel filler cap and fill the tank. 

(See engine manual for fuel capacity, fuel 

recommendation, and location of fuel cap.)

Add Oil To Engine

Add Oil To Engine

3.  Using a funnel, add oil up to the FULL mark 

on the dipstick. (See engine manual for oil 

capacity, oil recommendation, and location 

of fill cap.)

2.  Remove the oil fill 

cap/dipstick to add 

oil.

CLOSEDOPEN

09735UK00M110.indd   12 2017/12/20   16:56:23

MINI TRACKED DUMPER12

GB Operation

Never use choke to stop engine.

No oil in the engine originally, but 
a bottle of engine oil is in scope 
of delivery. Don’t start the engine 
before adding oil.

Gasoline is highly flammable and 
explosive. You can be burned or 
seriously injured when handling fuel. 
Use extreme care when handling 
gasoline.

Fill the fuel tank outdoors, never 
indoors. Gasoline vapors can ignite 
if they collect inside an enclosure. 
Explosion can result.

DO NOT OVERFILL. Check engine 
oil level daily and add as needed.

Engine On/Off Switch

The engine switch has two positions. OFF - 

engine will not start or run. ON - engine will 

start and run.

Recoil Starter Handle

The Recoil Starter Handle is used to start the 

engine.

Fuel Shut-Off Valve 

The fuel shut – off has two position.

CLOSED ( ) - use this position to service, 

transport, or store the unit.

OPEN ( ) - use this position to run the unit.

Throttle Control

The throttle control regulates the speed of the 

engine, and moves between FAST , SLOW 

, and STOP positions.

The throttle control will shut off the engine 

when it is moved to the STOP position.

Choke Control

The choke control is used to choke the 

carburetor and assist in starting the engine. 

The choke control slides between the CHOKE 

CLOSED  and CHOKE OPEN  positions.

Clutch Control Lever 

Squeeze the control lever, clutch engaged. 

Release the lever, clutch disengaged.

1.   Make sure the mini tracked dumper is on a 

flat, level surface.

1.   The engine must be off and allowed to cool 

at least two minutes before adding fuel.

2.  Remove the fuel filler cap and fill the tank. 

(See engine manual for fuel capacity, fuel 

recommendation, and location of fuel cap.)

Add Oil To Engine

Add Oil To Engine

3.  Using a funnel, add oil up to the FULL mark 

on the dipstick. (See engine manual for oil 

capacity, oil recommendation, and location 

of fill cap.)

2.  Remove the oil fill 

cap/dipstick to add 

oil.

CLOSEDOPEN

09735UK00M110.indd   12 2017/12/20   16:56:23

MINI TRACKED DUMPER12

GB Operation

Never use choke to stop engine.

No oil in the engine originally, but 
a bottle of engine oil is in scope 
of delivery. Don’t start the engine 
before adding oil.

Gasoline is highly flammable and 
explosive. You can be burned or 
seriously injured when handling fuel. 
Use extreme care when handling 
gasoline.

Fill the fuel tank outdoors, never 
indoors. Gasoline vapors can ignite 
if they collect inside an enclosure. 
Explosion can result.

DO NOT OVERFILL. Check engine 
oil level daily and add as needed.

Engine On/Off Switch

The engine switch has two positions. OFF - 

engine will not start or run. ON - engine will 

start and run.

Recoil Starter Handle

The Recoil Starter Handle is used to start the 

engine.

Fuel Shut-Off Valve 

The fuel shut – off has two position.

CLOSED ( ) - use this position to service, 

transport, or store the unit.

OPEN ( ) - use this position to run the unit.

Throttle Control

The throttle control regulates the speed of the 

engine, and moves between FAST , SLOW 

, and STOP positions.

The throttle control will shut off the engine 

when it is moved to the STOP position.

Choke Control

The choke control is used to choke the 

carburetor and assist in starting the engine. 

The choke control slides between the CHOKE 

CLOSED  and CHOKE OPEN  positions.

Clutch Control Lever 

Squeeze the control lever, clutch engaged. 

Release the lever, clutch disengaged.

1.     Make sure the mini tracked dumper is on a 

flat, level surface.

1.     The engine must be off and allowed to cool 

at least two minutes before adding fuel.

2.  Remove the fuel filler cap and fill the tank. 

(See engine manual for fuel capacity, fuel 

recommendation, and location of fuel cap.)

Add Oil To Engine

Add Oil To Engine

3.  Using a funnel, add oil up to the FULL mark 

on the dipstick. (See engine manual for oil 

capacity, oil recommendation, and location 

of fill cap.)

2.  Remove the oil fill 

cap/dipstick to add 

oil.

CLOSEDOPEN

09735UK00M110.indd   12 2017/12/20   16:56:23

MINI TRACKED DUMPER12

GB Operation

Never use choke to stop engine.

No oil in the engine originally, but 
a bottle of engine oil is in scope 
of delivery. Don’t start the engine 
before adding oil.

Gasoline is highly flammable and 
explosive. You can be burned or 
seriously injured when handling fuel. 
Use extreme care when handling 
gasoline.

Fill the fuel tank outdoors, never 
indoors. Gasoline vapors can ignite 
if they collect inside an enclosure. 
Explosion can result.

DO NOT OVERFILL. Check engine 
oil level daily and add as needed.

Engine On/Off Switch

The engine switch has two positions. OFF - 

engine will not start or run. ON - engine will 

start and run.

Recoil Starter Handle

The Recoil Starter Handle is used to start the 

engine.

Fuel Shut-Off Valve 

The fuel shut – off has two position.

CLOSED ( ) - use this position to service, 

transport, or store the unit.

OPEN ( ) - use this position to run the unit.

Throttle Control

The throttle control regulates the speed of the 

engine, and moves between FAST , SLOW 

, and STOP positions.

The throttle control will shut off the engine 

when it is moved to the STOP position.

Choke Control

The choke control is used to choke the 

carburetor and assist in starting the engine. 

The choke control slides between the CHOKE 

CLOSED  and CHOKE OPEN  positions.

Clutch Control Lever 

Squeeze the control lever, clutch engaged. 

Release the lever, clutch disengaged.

1.     Make sure the mini tracked dumper is on a 

flat, level surface.

1.     The engine must be off and allowed to cool 

at least two minutes before adding fuel.

2.  Remove the fuel filler cap and fill the tank. 

(See engine manual for fuel capacity, fuel 

recommendation, and location of fuel cap.)

Add Oil To Engine

Add Oil To Engine

3.  Using a funnel, add oil up to the FULL mark 

on the dipstick. (See engine manual for oil 

capacity, oil recommendation, and location 

of fill cap.)

2.  Remove the oil fill 

cap/dipstick to add 

oil.

CLOSEDOPEN

09735UK00M110.indd   12 2017/12/20   16:56:23

MINI TRACKED DUMPER12

GB Operation

Never use choke to stop engine.

No oil in the engine originally, but 
a bottle of engine oil is in scope 
of delivery. Don’t start the engine 
before adding oil.

Gasoline is highly flammable and 
explosive. You can be burned or 
seriously injured when handling fuel. 
Use extreme care when handling 
gasoline.

Fill the fuel tank outdoors, never 
indoors. Gasoline vapors can ignite 
if they collect inside an enclosure. 
Explosion can result.

DO NOT OVERFILL. Check engine 
oil level daily and add as needed.

Engine On/Off Switch

The engine switch has two positions. OFF - 

engine will not start or run. ON - engine will 

start and run.

Recoil Starter Handle

The Recoil Starter Handle is used to start the 

engine.

Fuel Shut-Off Valve 

The fuel shut – off has two position.

CLOSED ( ) - use this position to service, 

transport, or store the unit.

OPEN ( ) - use this position to run the unit.

Throttle Control

The throttle control regulates the speed of the 

engine, and moves between FAST , SLOW 

, and STOP positions.

The throttle control will shut off the engine 

when it is moved to the STOP position.

Choke Control

The choke control is used to choke the 

carburetor and assist in starting the engine. 

The choke control slides between the CHOKE 

CLOSED  and CHOKE OPEN  positions.

Clutch Control Lever 

Squeeze the control lever, clutch engaged. 

Release the lever, clutch disengaged.

1.     Make sure the mini tracked dumper is on a 

flat, level surface.

1.     The engine must be off and allowed to cool 

at least two minutes before adding fuel.

2.  Remove the fuel filler cap and fill the tank. 

(See engine manual for fuel capacity, fuel 

recommendation, and location of fuel cap.)

Add Oil To Engine

Add Oil To Engine

3.  Using a funnel, add oil up to the FULL mark 

on the dipstick. (See engine manual for oil 

capacity, oil recommendation, and location 

of fill cap.)

2.  Remove the oil fill 

cap/dipstick to add 

oil.

CLOSEDOPEN

09735UK00M110.indd   12 2017/12/20   16:56:23

Ouvert Fermé



29

M1.4.MRP300.NLFREN   15022023

FR TORROS
Démarrage du moteur

1. Tournez l’interrupteur du moteur sur ON.

2. Ouvrez le robinet d’essence.

3. Mettez la commande du starter en position FERMÉE.
Si le moteur est chaud, inutile d’utiliser le starter.

4. Mettez lentement le levier de vitesse vers la vitesse RAPIDE.

5. Tirez sur la poignée du démarreur jusqu’à ce que le moteur se mette en marche. Laissez revenir la poignée à sa position 
initiale après chaque traction. Répétez ces étapes autant de fois que nécessaire. Quand le moteur a démarré, mettez le 
levier de vitesse sur RAPIDE avant d’utiliser la machine.

ATTENTION !
Une rétraction rapide sur la corde du démarreur (recul) tirera votre bras et votre main vers le 
moteur plus vite que vous ne pouvez le laisser aller. Il pourrait en résulter des fractures d’os, des 
ecchymoses ou des entorses.

Travailler avec la machine
• Quand le moteur est chaud, tirez la commande des gaz pour augmenter la vitesse du moteur.
• Réglez sur la vitesse requise et embrayez lentement. Si l’embrayage ne se fait pas directement, relâchez doucement le 

levier et réessayez. La brouette va commencer à rouler.
• La brouette est équipée de leviers de direction très pratiques sur les poignées. Pour tourner à gauche ou à droite, il suffit 

d’actionner le levier correspondant.
• La sensibilité de la direction augmente proportionnellement avec la vitesse, ce qui fait qu’avec un bac vide, une légère 

pression sur le levier suffit pour tourner. Une pression plus forte est nécessaire si le bac est rempli.
• La brouette a une capacité maximale de 300 kg. Toutefois, il est recommandé d’adapter la charge au sol sur lequel la 

machine est utilisée.
• Nous vous conseillons également de couvrir certains tronçons à basse vitesse et avec des précautions supplémentaires. 
• Évitez les virages serrés et les changement fréquents de direction lors de la conduite sur la route, particulièrement sur des 

terrains durs et rugueux, avec des aspérités et un haut degré de frottement.
• Même si la brouette fonctionne sur des chenilles, redoublez de prudence quand vous travaillez dans des conditions météo 

difficiles (gel, fortes pluies et neige) ou sur un type de sol qui peut déstabiliser la machine.
• Comme tout véhicule à chenilles, la brouette est soumise à un tangage considérable quand elle passe sur des bosses, des 

trous et des marches.
• Quand l’embrayage est relâché, la machine s’arrête et freine automatiquement.
• Si la machine est arrêtée sur une pente raide, une cale doit être placée contre une des chenilles.

MINI TRACKED DUMPER 13

GBIMPORTANT: DO NOT OVERFILL!

This equipment and/or its engine 
may include evaporative emissions 
c o n t r o l  s y s t e m  c o m p o n e n t s , 
required to meet EPA and/or CARB 
regulations, that will only function 
properly when the fuel tank has been 
filled to the recommended level. 
Overfilling may cause permanent 
damage to evaporative emissions 
control system components. Filling 
to the recommended level ensures 
a vapor gap required to allow for 
fuel expansion. Pay close attention 
while filling the fuel tank to ensure 
that the recommended fuel level 
inside the tank is not exceeded. Use 
a portable gasoline container with an 
appropriately sized dispensing spout 
when filling the tank. Do not use a 
funnel or other device that obstructs 
the view of the tank filling process.

Rapid retraction of the starter cord 
(kickback) will pull your handand arm 
toward the engine faster than you 
can let go. Broken bones, fractures, 
bruises, or sprains could result.

3.  Reinstall the fuel cap and tighten. Always 

clean up spilled fuel.

SLOWFAST

OPENCLOSED

ONOFF

ONOFF

SLOWFAST

OPENCLOSED

Starting Engine

1.   Move the engine 

switch to the ON 

position.

2.  Open the fuel shut-

off valve. 

3.  Move the choke 

lever to the 

CLOSED position.

If the engine is hot, 

closing the choke is 

not necessary.

4.  Move the throttle 

lever slightly to the 

FAST speed.

5.  Pull the recoil starter until the engine starts. 

Return the recoil to the home position after 

each pull. Repeat the steps as needed. Once 

engine has started, set the throttle to the 

FAST position before you operate the unit.

Operating

After the engine warms up, move the throttle 

lever to accelerate engine speed.

Engage the required gear and slowly squeeze 

the clutch control lever. If the gear does not 

engage immediately, slowly release the clutch 

lever and try again. In this way the mini tracked 

dumper will start moving.

The mini tracked dumper has the steering 

levers on the handlebars, which makes steering 

very easy. To turn right or left, simply pull the 

corresponding right or left steering lever.

The sensitivity of the steering increases in 

proportion to the speed of the machine and the 

load. With an empty machine, a light pressure 

on the lever is all that is needed to turn. When 

the machine is fully loaded, more pressure is 

required.

The mini tracked dumper has a maximum 

capacity of 1100 LBS. However, it is advisable 

to assess the load and adjust it according to 

the ground on which the machine will be used.

It is therefore advisable to cover such stretches 

using low gear and taking extra care. In such 

situations, the machine should be kept in low 

gear for the whole stretch.

09735UK00M110.indd   13 2017/12/20   16:56:29

MINI TRACKED DUMPER 13

GBIMPORTANT: DO NOT OVERFILL!

This equipment and/or its engine 
may include evaporative emissions 
c o n t r o l  s y s t e m  c o m p o n e n t s , 
required to meet EPA and/or CARB 
regulations, that will only function 
properly when the fuel tank has been 
filled to the recommended level. 
Overfilling may cause permanent 
damage to evaporative emissions 
control system components. Filling 
to the recommended level ensures 
a vapor gap required to allow for 
fuel expansion. Pay close attention 
while filling the fuel tank to ensure 
that the recommended fuel level 
inside the tank is not exceeded. Use 
a portable gasoline container with an 
appropriately sized dispensing spout 
when filling the tank. Do not use a 
funnel or other device that obstructs 
the view of the tank filling process.

Rapid retraction of the starter cord 
(kickback) will pull your handand arm 
toward the engine faster than you 
can let go. Broken bones, fractures, 
bruises, or sprains could result.

3.  Reinstall the fuel cap and tighten. Always 

clean up spilled fuel.

SLOWFAST

OPENCLOSED

ONOFF

ONOFF

SLOWFAST

OPENCLOSED

Starting Engine

1.   Move the engine 

switch to the ON 

position.

2.  Open the fuel shut-

off valve. 

3.  Move the choke 

lever to the 

CLOSED position.

If the engine is hot, 

closing the choke is 

not necessary.

4.  Move the throttle 

lever slightly to the 

FAST speed.

5.  Pull the recoil starter until the engine starts. 

Return the recoil to the home position after 

each pull. Repeat the steps as needed. Once 

engine has started, set the throttle to the 

FAST position before you operate the unit.

Operating

After the engine warms up, move the throttle 

lever to accelerate engine speed.

Engage the required gear and slowly squeeze 

the clutch control lever. If the gear does not 

engage immediately, slowly release the clutch 

lever and try again. In this way the mini tracked 

dumper will start moving.

The mini tracked dumper has the steering 

levers on the handlebars, which makes steering 

very easy. To turn right or left, simply pull the 

corresponding right or left steering lever.

The sensitivity of the steering increases in 

proportion to the speed of the machine and the 

load. With an empty machine, a light pressure 

on the lever is all that is needed to turn. When 

the machine is fully loaded, more pressure is 

required.

The mini tracked dumper has a maximum 

capacity of 1100 LBS. However, it is advisable 

to assess the load and adjust it according to 

the ground on which the machine will be used.

It is therefore advisable to cover such stretches 

using low gear and taking extra care. In such 

situations, the machine should be kept in low 

gear for the whole stretch.

09735UK00M110.indd   13 2017/12/20   16:56:29

MINI TRACKED DUMPER 13

GBIMPORTANT: DO NOT OVERFILL!

This equipment and/or its engine 
may include evaporative emissions 
c o n t r o l  s y s t e m  c o m p o n e n t s , 
required to meet EPA and/or CARB 
regulations, that will only function 
properly when the fuel tank has been 
filled to the recommended level. 
Overfilling may cause permanent 
damage to evaporative emissions 
control system components. Filling 
to the recommended level ensures 
a vapor gap required to allow for 
fuel expansion. Pay close attention 
while filling the fuel tank to ensure 
that the recommended fuel level 
inside the tank is not exceeded. Use 
a portable gasoline container with an 
appropriately sized dispensing spout 
when filling the tank. Do not use a 
funnel or other device that obstructs 
the view of the tank filling process.

Rapid retraction of the starter cord 
(kickback) will pull your handand arm 
toward the engine faster than you 
can let go. Broken bones, fractures, 
bruises, or sprains could result.

3.  Reinstall the fuel cap and tighten. Always 

clean up spilled fuel.

SLOWFAST

OPENCLOSED

ONOFF

ONOFF

SLOWFAST

OPENCLOSED

Starting Engine

1.   Move the engine 

switch to the ON 

position.

2.  Open the fuel shut-

off valve. 

3.  Move the choke 

lever to the 

CLOSED position.

If the engine is hot, 

closing the choke is 

not necessary.

4.  Move the throttle 

lever slightly to the 

FAST speed.

5.  Pull the recoil starter until the engine starts. 

Return the recoil to the home position after 

each pull. Repeat the steps as needed. Once 

engine has started, set the throttle to the 

FAST position before you operate the unit.

Operating

After the engine warms up, move the throttle 

lever to accelerate engine speed.

Engage the required gear and slowly squeeze 

the clutch control lever. If the gear does not 

engage immediately, slowly release the clutch 

lever and try again. In this way the mini tracked 

dumper will start moving.

The mini tracked dumper has the steering 

levers on the handlebars, which makes steering 

very easy. To turn right or left, simply pull the 

corresponding right or left steering lever.

The sensitivity of the steering increases in 

proportion to the speed of the machine and the 

load. With an empty machine, a light pressure 

on the lever is all that is needed to turn. When 

the machine is fully loaded, more pressure is 

required.

The mini tracked dumper has a maximum 

capacity of 1100 LBS. However, it is advisable 

to assess the load and adjust it according to 

the ground on which the machine will be used.

It is therefore advisable to cover such stretches 

using low gear and taking extra care. In such 

situations, the machine should be kept in low 

gear for the whole stretch.

09735UK00M110.indd   13 2017/12/20   16:56:29

RAPIDE

OUVERTFERMÉ

LENT



30

M1.4.MRP300.NLFREN   15022023

FRTORROS
Ralenti
Mettez la commande des gaz en position LENTE pour réduire la contrainte sur le moteur pendant que la brouette ne roule pas. 
L’utilisation du ralenti permet de prolonger la durée de vie du moteur, d’économiser du carburant et de réduire le niveau sonore 
de la machine.

Arrêter le moteur
Pour arrêter le moteur en cas d’urgence, mettez simplement l’interrupteur sur OFF. Dans des conditions normales, suivez la 
procédure suivante :
1. Mettez la commande des gaz en position LENTE.
2. Laissez ralentir le moteur pendant une ou deux minutes.
3. Tournez l’interrupteur du moteur sur OFF.
4. Tournez le robinet du carburant sur OFF. 

ATTENTION !
Un arrêt brusque à une vitesse élevée sous une lourde charge est déconseillé. Le moteur pourrait 
être endommagé.

ATTENTION !
Ne mettez pas la commande du starter en position FERMÉE pour arrêter le moteur, car cela 
pourrait l’endommager.

8  Entretien

Un entretien correct et une bonne lubrification permettent à la machine de fonctionner de manière optimale.

Entretien préventif
1. Arrêtez le moteur et désengagez tous les leviers de commande. Le moteur doit être froid.
2. Maintenez la commande des gaz en position LENTE, enlevez le fil de la bougie et sécurisez.
3. Inspectez l’état général de la machine. Contrôlez s’il y a des vis desserrées, des parties mobiles mal alignées ou coincées, 

des pièces fissurées ou cassées, ou toute autre anomalie.
4. Enlevez toutes les saletés ayant pu s’accumuler sur la machine avec une brosse ou un aspirateur. Lubrifiez ensuite toutes les 

parties mobiles avec une huile légère pour machines.
5. Remettez le fil de la bougie.

ATTENTION !
N’utilisez jamais un nettoyeur haute pression pour nettoyer votre machine. De l’eau peut 
pénétrer dans les interstices de la machine et dans la transmission, et endommager les axes, les 
engrenages, les roulements, ou le moteur. L’utilisation d’un nettoyeur haute pression diminuera la 
durée de vie et l’efficacité de votre machine.

Régler l’embrayage
Quand l’embrayage commence à s’user, l’ouverture de la poignée 
devient plus large, ce qui la rend plus difficile à atteindre. Suivez 
les instructions suivantes pour remettre la poignée dans sa position 
initiale :
1. Desserrez le contre-écrou en le tournant dans le sens antihoraire 

avec une clé de 10 mm.
2. Serrez ou desserrez le câble en tournant l’écrou de réglage du 

câble dans un sens ou dans l’autre avec une clé de 10 mm, 
jusqu’à ce que vous ayez atteint le serrage requis.

3. Une fois que le réglage est correct, resserrez le contre-écrou 
contre la poignée pour tenir le câble en place.

MINI TRACKED DUMPER 15

GBAdjusting Clutch

When the clutch begins to show wear, the 

handle reach will become wider, making it 

more difficult to reach. Follow these steps 

to return the clutch lever back to its original 

position.

1.   Loosen the jam nut by turning it counter 

clockwise with 10 mm wrench.

2.  Tighten or loosen the cable by turning the 

cable adjustment nut clockwise or counter 

clockwise with 10 mm wrench until you have 

reached your required tightness.

3.  Once tightness is set, return the jam nut 

against the handle to hold the cable in place. 

Jam Nut

Adjustment Nut

Adjustment Nut

Jam Nut

Jam Nut

1

2 3

1

Jam Nut

Lock Nut

2 3

Jam Nut

Adjustment Nut

Adjustment Nut

Jam Nut

1

32

Jam Nut

Lock Nut

Adjustment 
Nut

Lock Nut

Adjustment Nut

Jam Nut

Jam Nut

Lock Nut

Adjusting Steering

If steering becomes difficult to engage follow 

these steps to adjust the cable tension.

1.   Loosen the jam nut by turning it counter 

clockwise with 10 mm wrench.

2.  Tighten or loosen the cable by turning the 

cable adjustment nut clockwise or counter 

clockwise with 10 mm wrench until you have 

reached your required tightness.

3.  Once tightness is set, return the jam nut 

against the handle to hold the cable in place. 

If the above adjustment does not create 

enough cable tension, follow the steps below:

1.   Loosen the jam nut by turning it counter 

clockwise with 12mm wrench.

2.  Tighten or loosen the cable by turning the 

cable adjustment nut clockwise or counter 

clockwise with 10 mm wrench until you have 

reached your required tightness.

3.  Once tightness is set, return the jam nut 

against the handle to hold the cable in place.

09735UK00M110.indd   15 2017/12/20   16:56:39

Légende :
Adjustment nut = écrou de réglage
Jam nut = contre-écrou



31

M1.4.MRP300.NLFREN   15022023

FR TORROS
Réglage des leviers de direction
Si les leviers de direction commencent à être difficile à enclencher, 
suivez les étapes suivantes pour régler la tension du câble :
1. Desserrez le contre-écrou en le tournant dans le sens antihoraire 

avec une clé de 10 mm.
2. Serrez ou desserrez le câble en tournant l’écrou de réglage du 

câble dans un sens ou dans l’autre avec une clé de 10 mm, jusqu’à 
ce que vous ayez atteint le serrage requis.

3. Une fois que le réglage est correct, resserrez le contre-écrou contre 
la poignée pour tenir le câble en place.

Si le réglage ne suffit pas pour tendre suffisamment le câble, suivez les 
étapes suivantes :
1. Desserrez le contre-écrou en le tournant dans le sens antihoraire 

avec une clé de 12 mm.
2. Serrez ou desserrez le câble en tournant l’écrou de réglage du 

câble dans un sens ou dans l’autre avec une clé de 10 mm, jusqu’à 
ce que vous ayez atteint le serrage requis.

3. Une fois que le réglage est correct, resserrez le contre-écrou contre 
la poignée pour tenir le câble en place.

MINI TRACKED DUMPER16

GB

MAINTENANCE

Never use a “pressure washer” to 
clean your unit. Water can penetrate 
tight areas of the machine and its 
transmission case and cause damage 
to spindles, gears, bearings, or the 
engine. The use of pressure washers 
will result in shortened life and 
reduce serviceability. 

S u d d e n  s t o p p i n g  a t  a  h i g h 
speed under a heavy load is not 
recommended. Engine damage may 
result.

Do not move the choke control to 
CLOSE to stop the engine. Backfire 
or engine damage may occur.

1. 

1. 

1. 

2. 

2. 

3. 

3. 

4. 

5. 

Adjusting Clutch

When the clutch begins to show wear, the 

handle reach will become wider, making it 

more difficult to reach. Follow these steps 

to return the clutch lever back to its original 

position.

Maintaining your mini tracked dumper will 

ensure long l ife to the machine and its 

components.

Preventive Maintenance

Jam Nut

Adjustment Nut

Adjustment Nut

Jam Nut

Jam Nut

1

2 3

Adjusting Steering

If steering becomes difficult to engage, follow 

these steps to adjust the cable tension.

Turn off the engine and disengage all 

command levers. The engine must be cool.

Keep the engine’s throttle lever in its SLOW 

position and remove the spark plug wire 

from the spark plug and secure.

Inspect the general condition of the power 

trackbarrow. Check for loose screws, 

misalignment or binding of moving parts, 

cracked or broken parts, and any other 

condition that may affect its safe operation.

Use a soft brush, vacuum or compressed 

air to remove all contaminants from the 

machine. Then use high quality light oil to 

lubricate all moving parts.

Check the spark plug wire regularly for 

signs of wear, and replace when needed.

Loosen the jam nut by turning it counter 

clockwise with 10mm wrench.

Tighten or loosen the cable by turning the 

cable adjustment nut clockwise or counter 

clockwise with 10mm wrench until you 

have reached your required tightness.

Once tightness is set, return the jam nut 

against the handle to hold the cable in 

place. 

Loosen the jam nut by turning it counter 

clockwise with 10mm wrench.

2. 

3. 

Tighten or loosen the cable by turning the 

cable adjustment nut clockwise or counter 

clockwise with 10mm wrench until you 

have reached your required tightness.

Once tightness is set, return the jam nut 

against the handle to hold the cable in place.

MINI TRACKED DUMPER 17

GB

2. 

1. 

3. 

Loosen the jam nut by turning it counter 

clockwise with 12mm wrench.

Tighten or loosen the cable by turning the 

cable adjustment nut clockwise or counter 

clockwise with 10mm wrench until you 

have reached your required tightness.

Once tightness is set, return the jam nut 

against the handle to hold the cable in place. 

1

Jam Nut

Lock Nut

2 3

Jam Nut

Adjustment Nut

Adjustment Nut

Jam Nut

1

Jam Nut

Jam Nut

Lock Nut

Lock Nut

2

Adjustment Nut

3

Jam Nut

Adjustment Nut

Lock Nut

If the above adjustment does not create 

enough cable tension, follow the steps below:

Replacing Drive Belt

Remove belt covers as shown and pull out the 

belt. 

You may need to loosen the belt 
guide bracket and slide back before 
removing belt.

Lubrication

General Lubrication

Lightly lubricate all moving parts of the 

machine at end of the season or every 25 

operating hours.

Gearbox Lubrication

The gearbox is pre-lubricated and sealed at the 

factory. Unless there is evidence of leakage or 

service has been performed on the gearbox, no 

additional lubricate should be required until 50 

hours use.

After first 50 hours use, change all the gear oil. 

Capacity is 1.5L.

For future use, check the oil level after every 

50 hours of use. If you remove the oil level plug 

and no oil flows out, please add  oil and then 

screw the oil level plug.

Gear oi l  GL-5 or GL-6,  SAE80W-90 is 

recommended. Do not use synthetic oil.

When replacing gear oil, the engine must be 

stopped and still warm. Unscrew the filter cap 

and the drain plug. When oil is drained, replace 

the drain plug, fill up with fresh oil, and then 

replace the filter cap. 

Belt Cover

M8×20 (×3)

M6×20

Belt Cover for Gearbox Pulley

Gearbox Pulley

Drive Belt

Légende :
Adjustment nut = écrou de réglage
Jam nut = contre-écrou
Lock nut = écrou de blocage



32

M1.4.MRP300.NLFREN   15022023

FRTORROS

MINI TRACKED DUMPER 17

GB

2. 

1. 

3. 

Loosen the jam nut by turning it counter 

clockwise with 12mm wrench.

Tighten or loosen the cable by turning the 

cable adjustment nut clockwise or counter 

clockwise with 10mm wrench until you 

have reached your required tightness.

Once tightness is set, return the jam nut 

against the handle to hold the cable in place. 

1

Jam Nut

Lock Nut

2 3

Jam Nut

Adjustment Nut

Adjustment Nut

Jam Nut

1

Jam Nut

Jam Nut

Lock Nut

Lock Nut

2

Adjustment Nut

3

Jam Nut

Adjustment Nut

Lock Nut

If the above adjustment does not create 

enough cable tension, follow the steps below:

Replacing Drive Belt

Remove belt covers as shown and pull out the 

belt. 

You may need to loosen the belt 
guide bracket and slide back before 
removing belt.

Lubrication

General Lubrication

Lightly lubricate all moving parts of the 

machine at end of the season or every 25 

operating hours.

Gearbox Lubrication

The gearbox is pre-lubricated and sealed at the 

factory. Unless there is evidence of leakage or 

service has been performed on the gearbox, no 

additional lubricate should be required until 50 

hours use.

After first 50 hours use, change all the gear oil. 

Capacity is 1.5L.

For future use, check the oil level after every 

50 hours of use. If you remove the oil level plug 

and no oil flows out, please add  oil and then 

screw the oil level plug.

Gear oi l  GL-5 or GL-6,  SAE80W-90 is 

recommended. Do not use synthetic oil.

When replacing gear oil, the engine must be 

stopped and still warm. Unscrew the filter cap 

and the drain plug. When oil is drained, replace 

the drain plug, fill up with fresh oil, and then 

replace the filter cap. 

Belt Cover

M8×20 (×3)

M6×20

Belt Cover for Gearbox Pulley

Gearbox Pulley

Drive Belt

Remplacer la courroie d’entraînement
Enlevez le capot de la courroie comme illustré, retirez la courroie.

ATTENTION !
Il se peut que vous deviez desserrer le support de 
guidage de la courroie et le glisser vers l’arrière 
pour retirer la courroie.

MINI TRACKED DUMPER18

GB

Do not over-tighten your track. 
The adjustment of the track and 
the brakes are linked. The braking 
power will lessen the more the track 
is tightened.

If the adjustment bolt has no more 
adjustment left, the tracks may have 
to be replaced.

Replacing Tracks

Check the condition of the tracks periodically. 

If any track is cracked or frayed, it should be 

replaced as soon as convenient.

2. 

3. 

2. 

4. 

3. 

5. 

1. 

1. 

Oil Filler

Oil Outlet

Tightening Tracks

With use, tracks tend to loosen. When 

operating with loose tracks, they tend to slip 

over the driving wheel causing it to jump its 

housing, thus damaging wear to the housing.

To check track tightness, proceed as follows.

If the distance is greater, proceed as follows.

Use the tipping handle to tip the hopper 

and set it on blocks or supports rated for 

the weight of the box.

Loosen locknut A.

Tighten bolt B until the correct tightness is 

restored.

Secure bolt B by tightening locknut A 

thoroughly.

Return the hopper to its original position.

Set the machine on a flat surface with 

compact ground, or on asphalt or pavement. 

Lift the machine and set it on blocks or 

supports rated for the weight of the machine 

so that the tracks are approximately 4” off 

the ground.

Measure the track midline vs. the horizontal 

line. The reading must not be more than 

10cm~15cm.

1
0

cm
 ~

 1
5

cm

A

A

Adjusting Bolt

Jam Nut

B

B

Lubrification

Lubrification générale
Lubrifiez légèrement toutes les pièces mobiles de la machine à la fin 
de la saison ou toutes les 25 heures de service.

Lubrification de la boîte de vitesse
La boîte de vitesse est lubrifiée et scellée en usine. Vous ne devez pas 
la lubrifier avant 50 heures de service.
Après les 50 premières heures d’utilisation, remplacez la totalité de 
l’huile de transmission. La capacité est de 1,5 litre.
Pour la suite, vérifiez le niveau d’huile toutes les 50 heures de 
service. Si vous ouvrez le bouchon de la jauge et qu’il n’y a pas 
d’écoulement d’huile, ajoutez-en et remettez le bouchon.
L’huile de transmission GL-5 ou GL-6, SAE80W-90 est conseillée. 
N’utilisez pas d’huile synthétique.
Quand vous remplacez l’huile de transmission, le moteur doit être 
éteint et encore chaud. Dévissez le bouchon du filtre et le bouchon 
de vidange. Quand l’huile est vidangée, remettez le bouchon de 
vidange, remplissez avec de l’huile fraîche et remettez le bouchon du 
filtre.

Capot de la 
courroie

Poulie boîte de vitesse

Courroie d’entraînement
Capot de la courroie pour la poulie 

de la boîte de vitesse

Bouchon de 
remplissage

Bouchon de 
vidange



33

M1.4.MRP300.NLFREN   15022023

FR TORROS

Resserrer les chenilles
À la longue, les chenilles se desserrent. Si vous travaillez avec des 
chenilles desserrées, elles auront tendance à glisser sur la roue 
motrice, provoquant une usure prématurée de leur logement.

Procédez comme suit pour vérifier la tension des chenilles : 
1. Placez la machine sur une surface plane et compacte, de 

préférence en asphalte ou en pierre.
2. Soulevez la machine et mettez-la sur des blocs ayant une 

capacité de charge suffisante, de façon à ce que la machine se 
trouve à environ 100 mm du sol.

3. Mesurez la ligne médiane de la chenille par rapport à la ligne 
horizontale. La mesure ne peut pas dépasser 10-15 mm.

Si la distance est plus grande, procédez comme suit :
1. Utilisez le levier de basculement pour incliner la benne, et 

placez-la sur des blocs ou des supports de capacité suffisante.
2. Dévissez l’écrou de blocage A.
3. Serrez le boulon B jusqu’à ce que la tension soit correcte.
4. Bloquez le boulon B avec l’écrou de blocage A.
5. Remettez la benne dans sa position initiale.

ATTENTION !
• Le réglage de la chenille et celui des freins 

sont liés. Soyez donc très prudent, car si les 
chenilles sont trop serrées, l’effet de freinage 
sera diminué.

• Si vous ne pouvez plus régler le boulon de 
réglage, la chenille doit être remplacée.

MINI TRACKED DUMPER18

GB

Do not over-tighten your track. 
The adjustment of the track and 
the brakes are linked. The braking 
power will lessen the more the track 
is tightened.

If the adjustment bolt has no more 
adjustment left, the tracks may have 
to be replaced.

Replacing Tracks

Check the condition of the tracks periodically. 

If any track is cracked or frayed, it should be 

replaced as soon as convenient.

2. 

3. 

2. 

4. 

3. 

5. 

1. 

1. 

Oil Filler

Oil Outlet

Tightening Tracks

With use, tracks tend to loosen. When 

operating with loose tracks, they tend to slip 

over the driving wheel causing it to jump its 

housing, thus damaging wear to the housing.

To check track tightness, proceed as follows.

If the distance is greater, proceed as follows.

Use the tipping handle to tip the hopper 

and set it on blocks or supports rated for 

the weight of the box.

Loosen locknut A.

Tighten bolt B until the correct tightness is 

restored.

Secure bolt B by tightening locknut A 

thoroughly.

Return the hopper to its original position.

Set the machine on a flat surface with 

compact ground, or on asphalt or pavement. 

Lift the machine and set it on blocks or 

supports rated for the weight of the machine 

so that the tracks are approximately 4” off 

the ground.

Measure the track midline vs. the horizontal 

line. The reading must not be more than 

10cm~15cm.

1
0

cm
 ~

 1
5

cm

A

A

Adjusting Bolt

Jam Nut

B

B

MINI TRACKED DUMPER18

GB

Do not over-tighten your track. 
The adjustment of the track and 
the brakes are linked. The braking 
power will lessen the more the track 
is tightened.

If the adjustment bolt has no more 
adjustment left, the tracks may have 
to be replaced.

Replacing Tracks

Check the condition of the tracks periodically. 

If any track is cracked or frayed, it should be 

replaced as soon as convenient.

2. 

3. 

2. 

4. 

3. 

5. 

1. 

1. 

Oil Filler

Oil Outlet

Tightening Tracks

With use, tracks tend to loosen. When 

operating with loose tracks, they tend to slip 

over the driving wheel causing it to jump its 

housing, thus damaging wear to the housing.

To check track tightness, proceed as follows.

If the distance is greater, proceed as follows.

Use the tipping handle to tip the hopper 

and set it on blocks or supports rated for 

the weight of the box.

Loosen locknut A.

Tighten bolt B until the correct tightness is 

restored.

Secure bolt B by tightening locknut A 

thoroughly.

Return the hopper to its original position.

Set the machine on a flat surface with 

compact ground, or on asphalt or pavement. 

Lift the machine and set it on blocks or 

supports rated for the weight of the machine 

so that the tracks are approximately 4” off 

the ground.

Measure the track midline vs. the horizontal 

line. The reading must not be more than 

10cm~15cm.

1
0

cm
 ~

 1
5

cm

A

A

Adjusting Bolt

Jam Nut

B

B

Contre-écrou

Boulon de 
réglage



34

M1.4.MRP300.NLFREN   15022023

FRTORROS
Remplacer les chenilles
Vérifiez régulièrement l’état des chenilles. Si une chenille est fissurée ou effilochée, elle doit être remplacée dès que possible.
1. Soulevez la benne et insérez une barre de soutien pour des raisons de sécurité.
2. Soulevez la machine et placez-la sur des blocs ou autres supports adaptés au poids de la machine, de sorte que les 

chenilles se trouvent à environ 10 cm au-dessus du sol.
3. Desserrez les boulons de réglage et tirez l’axe du volant vers le moteur, afin de desserrer la chenille.
4. Retirez toute la chenille.

ATTENTION !
Quand vous enlevez ou installez une chenille, veillez à ne pas coincer vos doigts entre la chenille 
et la poulie.

Entretien du moteur
Consultez le mode d’emploi du moteur fourni séparément.

MINI TRACKED DUMPER 19

GB

When removing or installing the 
tracks, be careful not to get your 
fingers caught between the track 
and pulley.

Lift up the hopper and insert a support rod 

for safety purposes.

Lift the machine and set it on blocks 

or supports rated for the weight of 

the machine so that  the t racks are 

approximately 4” off the ground.

Loosen the adjusting bolts and pull the 

steering wheel axle toward the engine, then 

track will be loosen.

Engine Maintenance

Refer to the Engine Manual included in 

your unit   for the information on engine 

maintenance. Your engine manual provides 

detailed information and a maintenance 

schedule for performing the tasks.

Pull out the whole track.

2. 

3. 

4. 1. 

A

A

Adjusting Bolt

Jam Nut

B

Steering Wheel Axle

Steering Wheel

B

Danger Area

Support Object

Support Rod

MINI TRACKED DUMPER 19

GB

When removing or installing the 
tracks, be careful not to get your 
fingers caught between the track 
and pulley.

Lift up the hopper and insert a support rod 

for safety purposes.

Lift the machine and set it on blocks 

or supports rated for the weight of 

the machine so that  the t racks are 

approximately 4” off the ground.

Loosen the adjusting bolts and pull the 

steering wheel axle toward the engine, then 

track will be loosen.

Engine Maintenance

Refer to the Engine Manual included in 

your unit   for the information on engine 

maintenance. Your engine manual provides 

detailed information and a maintenance 

schedule for performing the tasks.

Pull out the whole track.

2. 

3. 

4. 1. 

A

A

Adjusting Bolt

Jam Nut

B

Steering Wheel Axle

Steering Wheel

B

Danger Area

Support Object

Support Rod

MINI TRACKED DUMPER 19

GB

When removing or installing the 
tracks, be careful not to get your 
fingers caught between the track 
and pulley.

Lift up the hopper and insert a support rod 

for safety purposes.

Lift the machine and set it on blocks 

or supports rated for the weight of 

the machine so that  the t racks are 

approximately 4” off the ground.

Loosen the adjusting bolts and pull the 

steering wheel axle toward the engine, then 

track will be loosen.

Engine Maintenance

Refer to the Engine Manual included in 

your unit   for the information on engine 

maintenance. Your engine manual provides 

detailed information and a maintenance 

schedule for performing the tasks.

Pull out the whole track.

2. 

3. 

4. 1. 

A

A

Adjusting Bolt

Jam Nut

B

Steering Wheel Axle

Steering Wheel

B

Danger Area

Support Object

Support Rod

3

4

1, 2

Barre de soutien

Supports

Volant

Axe du volant

Contre-écrou

Boulon de réglage



35

M1.4.MRP300.NLFREN   15022023

FR TORROS
9  Rangement
Si la brouette ne doit pas être utilisée pendant plus de 30 jours, préparez la machine comme suit pour la ranger :
1. Videz complètement le réservoir d’essence. Du carburant stocké contenant de l’éthanol ou du MTBE peut commencer à s’éventer 

dans les 30 jours. Du combustible usagé a une teneur élevée en gomme et peut obstruer le carburateur et limiter le flux de 
carburant.

2. Faites démarrer le moteur et laissez-le tourner jusqu’à ce qu’il s’arrête, pour vous assurer qu’il ne reste pas d’essence dans le 
carburateur. Cela permet d’éviter les dépôts à l’intérieur du carburateur, qui pourrait ainsi être endommagé.

3. Pendant que le moteur est chaud, videz l’huile du moteur. Remplissez avec de la nouvelle huile du type recommandé dans le 
mode d’emploi du moteur.

4. Nettoyez l’extérieur de la machine et les bouches d’aération avec un chiffon propre.
N’utilisez pas de détergent puissant ou de produits à base de pétrole, pour ne pas endommager les 
parties en plastique.

5. Vérifiez si aucune pièce n’est desserrée ou endommagée. Réparez ou remplacez les pièces endommagées et resserrez les vis, 
écrous et boulons si nécessaire.

6. Rangez la machine sur un sol plat, dans un endroit propre, sec et bien ventilé.

ATTENTION !
Ne rangez pas la machine avec de l’essence dans un endroit non aéré, où les vapeurs d’essence 
peuvent entrer en contact avec une flamme, des étincelles, une veilleuse ou une autre source 
d’inflammation.

10  Résolution des pannes

Pannes Causes Solutions
Le moteur ne démarre pas Le fil de la bougie est débranché. Connectez correctement le fil de la 

bougie.
Plus de carburant ou carburant éventé. Remplissez avec du carburant propre.
Le starter n’est pas activé. L’accélérateur doit être positionné avec le 

starter activé pour un démarrage à froid.
Tuyau d’essence bouché. Nettoyez le tuyau d’essence.
La bougie est sale. Nettoyez, réglez le jeu ou remplacez la 

bougie.
Le moteur est noyé. Attendez quelques minutes avant de 

réessayer.
Le moteur tourne de manière irrégulière Le fil de la bougie est déconnecté. Reconnectez le fil de la bougie.

La machine fonctionne avec le starter. Mettez le starter sur OFF.
Tuyau d’essence bouché ou essence 
éventée.

Nettoyez le tuyau d’essence. Remplissez le 
réservoir avec de l’essence propre.

La bouche d’aération est bouchée. Nettoyez la bouche d’aération.
Il y a de l’eau ou des saleté dans le circuit 
de carburant.

Videz le réservoir d’essence et remplissez-
le avec de l’essence propre.

Le filtre à air est sale. Nettoyez ou remplacez le filtre à air.
Le carburateur est mal réglé. Consultez le mode d’emploi du moteur.

Le moteur surchauffe Le niveau d’huile est trop bas. Remplissez le carter avec de l’huile 
adaptée.

Le filtre à air est sale. Nettoyez ou remplacez le filtre à air.
Le flux d’air est limité. Enlevez le boîtier et nettoyez.
Le carburateur est mal réglé. Consultez le mode d’emploi du moteur.

Une chenille est bloquée Un corps étranger s’est introduit entre la 
chenille et le châssis.

Enlevez le corps étranger.

La machine n’avance pas alors que le 
moteur tourne

La vitesse n’est pas enclenchée. Vérifiez si le levier de vitesse n’est pas 
entre deux vitesses.

La courroie d’entraînement n’est pas serrée 
assez.

Resserrez la courroie.


	M1.4.MRP300.NLFREN 1.pdf
	M1.4.MRP300.NLFREN 19.pdf
	M1.4.MRP300.NLFREN 20.pdf
	M1.4.MRP300.NLFREN 21.pdf
	M1.4.MRP300.NLFREN 22.pdf
	M1.4.MRP300.NLFREN 23.pdf
	M1.4.MRP300.NLFREN 24.pdf
	M1.4.MRP300.NLFREN 25.pdf
	M1.4.MRP300.NLFREN 26.pdf
	M1.4.MRP300.NLFREN 27.pdf
	M1.4.MRP300.NLFREN 28.pdf
	M1.4.MRP300.NLFREN 29.pdf
	M1.4.MRP300.NLFREN 30.pdf
	M1.4.MRP300.NLFREN 31.pdf
	M1.4.MRP300.NLFREN 32.pdf
	M1.4.MRP300.NLFREN 33.pdf
	M1.4.MRP300.NLFREN 34.pdf
	M1.4.MRP300.NLFREN 35.pdf



